DR
=

1411 2| g 59 - 8 - 4 B4 (1897.10~1900.5)

S RE=N

H2HE._

H3E

M4=

=stajAlol=Ale) MEtES | 27

1, g Aol EALe) thEAl= A U4 _27
2. @AIZe] 24 39

3.8 9 5 AN _47

oiataI=el h2itigE |57

1, WAL 14 57

2. JEET Q1A _6l

FalUETALY REHEE | 65

1. Z3r g ALe] thgkA S A 14 65
2. AT A 75

3.8 97 5F U _83

stz e |8

1.0 ZAE _89

2L HIE_93

4273 | aisiekaizizt & - 2 - o Bl (1900.6~1902.1)

HM1E

H2&E.

ZsiAORBANl AEES | 105

1. =g Ao} EAL) thgkAl= A A4 _105
2. kAl A 112

3 gEFF oo} 117

opstrizel ch2icige | 121

1. tie ZAE _121

2. e 28 _126

13 |

2|

103 |



HM3HE_ FaU=IA MEtEs |13
L i3S He=st #2131
2, f@AST A 7= _139
3. A 2R A0S 144

HM4™  chtxi=el thyckgE | 151
Ldig BAE _151
2 Y H{ZE_155

274 |19

171373 995"} & - 2 - o 4 (1902.2~1903.3)

1A Fsl=zAel xEEsE | 165
1. Z3AuFAe] oighAl= 4] 719] 165
2. A=) A 169

M2d _ cisthzel gz | 173
1. AFE_173
2.9 AAE _177

3™ FdAorBAte] st |18t
1. 995l tht o _ 181
2. A= st e 9 _ 184
3. 739l A= dd WA _ 186

HM4H_ ostri=el iz | 18
1.%93} bzl _ 189
2. g8 A2E _190

27 |15

[ 41473 ] $4=AA5 S - 3 - A P4 (1903.4~1903.12)

M1 F32{A0IBALY MBS | 201

163 |

19 |



1 8dE=x 31201
2. 847N A A _ 208

M2H istri=ol cizichgs | 215
1. 84FE=A} ARY 215
2. 84EAN AR 219
M3E Fald=Zatel xiEs |23
1 89HEA 14 _ 223
2. 8AEAAUGE _226
3. tigkAl = e) A _ 239

M4HE  oistai=Eol ciUcies | 257

LAdAFE _257
2.9 2AAE 200

a8 200

17157 ] 21902 & - 2 - 2 94 (1904.1~1904.2) 275 |

HM1E  Fslu=zAtel xfstes | 277
M2HE  chstei=e) ez | s
M3 FERiAOIBALS xiEtetE | 287

M4 cisth=el chchez | 23



